Sample instructions for the experiments in Munich

Experiment
Ident. No.:

I kindly ask you to participate in the four hypothetical decision problems on the attached
decision sheets.

Decision problems 1, 2, and 3 are all structured identically. Please imagine that you are part of a
three-person group in each situation. In each case you have to decide between different allocations
of monetary payoffs among the 3 persons. You are always assigned the role of person 2. The
other two persons have no opportunity to make any decisions. The different payoff allocations
in each decision situation are labeled allocation A, allocation B, and allocation C.

You do not know the identity of the other two persons in the group and the other group members
will not be informed about your identity.

After collecting all the decision sheets, we will randomly select three persons for each of the three
decision situations. The order of the selection determines the role of the selected persons in all
decision situations. These persons are paid the monetary payoffs, which person 2 selected. Thus,
you could be in the role of either person 1, 2, or 3 if you are randomly selected. The other
participants will neither be informed of the identity of the selected persons nor of the
monetary payoffs. Please retain the sheet with your identification number. We cannot give you
your payoff without this sheet.

Please make your decisions privately without contacting your neighbor or discussing your
decisions with other people. We are interested in your individual decisions. When you
have made all decisions, please fold the decision sheets and put it in the box. This ensures
the anonymity of your decisions. Before we start with the experiment we would like to ask
you for the following personal information:

Major, Year:
Gender: male female




Decision problem 1:

You are person 2. You can now unilaterally determine the payoff allocation between the three
persons in your group. You are the only person in the group that makes a decision. Please choose
the payoff allocation that you prefer by marking the respective column.

Monetary allocation

A B C
Person 1 €21 €17 €13
Person 2 (YOU) €9 €9 €9
Person 3 €3 €4 €5
Your decision
Average payment to person 1 and 3 €12 €10.5 €9
Total payment to three persons €33 €30 €27

Decision problem 2:

You are person 2. You can now unilaterally determine the payoff allocation between the three
persons in your group. You are the only person in the group that makes a decision. Please choose
the payoff allocation that you prefer by marking the respective column.

Monetary allocation

A B C
Person 1 €14 €11 €8
Person 2 (YOU) €4 €4 €4
Person 3 €5 €6 €7
Your decision
Average payment to person 1 and 3 €9.5 €8.5 €7.5
Total payment to three persons €23 €21 €19

Decision problem 3:

You are person 2. You can now unilaterally determine the payoff allocation between the three
persons in your group. You are the only person in the group that makes a decision. Please choose
the payoff allocation that you prefer by marking the respective column.

Monetary allocation

A B C
Person 1 €11 €8 €5
Person 2 (YOU) €12 €12 €12
Person 3 €2 €3 €4
Your decision
Average payment to person 1 and 3 €6.5 €5.5 €4.5

Total payment to three persons €25 €23 €21



